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10.

11,

Instructions

- Answer all questions.

All questions carry equal marks.
In this booklet, the questions from

serial no. 1 to senal no. 10 are related

to general awareness while questions
from serial no. 11 to serial no. 70 are
subject specific.

Each question has four alternatives

-~ marked as (A), (B), (C), (D).

Choose only one alternative as an
answer of a question.

If more than one answer is marked

then it will be treated as wrong
answer.
Candidate has to darken only one circle

indicating the correct answer on the

OMR sheet by using BLUE?BLACK

' BALL POINT PEN.

There is no provision of Negatlve
arking.

Carrymg Mobile phone in the

examination hall is strictly prohlbxted

If any objectionable material is also

found, then action will be taken as per |.

University norms.

Please fill your Roll No. and other’
_ information carefully on OMR sheet.
“In case of any mistake on OMR sheet,

candidate will be responsible.
If there is any difference between

English and Hindi version of questions,

then English version shall be correct.
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1. Who was the speaker of first Lok | 1. - 5oq &% 9w % R ?

Sabha ? (A) St AEEE

(A) G.V. _Mavalankar

(B) TH.U. emmt
(B) M.A. Ayyangar o
: R (C) T fo'
(C) Hukum Singh | .
o D) . Gsitar G

(D) N. Sanjeeva Reddy » S '
: - ! 2. % ‘India Wins Freedom’ &% 9@&
2. Who is the author of the book ‘India | |

| T Z ?
‘Wins Freedom’ ? : _
"' SRR (A) SETRTEART TEE
(A) Jawaharlal Nehru ’ , _
< | (B) 3fex with

(B) Indira Gandhi ;

| » y - (C) AT ST FAM SR
- (C) Maulana Abul Kalam Azad " ' - '

| (D) HEET TR

(D). Kuldeep Nayyar , S

S L 3. W H pH A ¥ :
3. The pH value of lemon juice is : 71'171 p , & ,

(A) Less than 7 @) 7 | ®5

®) More than 7 | e (® 7w

© Equal to 7 © 7% W=

D) None of the above 1 (D) ELRCH ﬁ' 3 e T

26-Physics - ' 3



International Women’s Day is

celebrated on :
(A) 5th March
(B) 8th March
(C) 10th March.',
-(D) 12th March
Coﬁpiete the series :
11, 13, 17, 19, 23, 25, ....
(A) 26
(B) 27
C) 29

D) 37 .

Introducing a man, a woman said,

“He is the only son of my mother’s

mother.” How ié the woman related |

to the man ?
| (A) Mother
(B) Aunt |
kC) Sister

(D) Niece A |

26—Physics

‘srRisd wfeen fam’ WA o §
@ s ad

(B) 8 U=

(C) 10 A=

D) 12 9=

st gt T

11, 13, 17, 19, 28, 25, .....

A) 26

B) 27

(C) 29.

(D) 37 |

TF e w1 R W W TH
e wedt &, “aw ¥ Wt @ 6 W
S A R | 39 oita o =t
Ty ¥ ?

(A) Hra

(B) g

(C) =&

(D) =it



In a certain code language, if the

word ‘NOIDA’ 'is coded as ‘39658,

then how will be the word INDIA’ |

 coded ?

 (A) 36568
. (B) 63568
(©) 63569

(D) 65368

‘8. Antonym of the word ‘Abstain’ is : |

- (A Refusé
(B) Oppose
,(C) Run away

(D) Permit

Find the word which best expresses |

the given statement :

| ‘One ‘who talks contin‘u“ously."‘ :
: (A) Impecunious

‘.»_(B) Loquacious

© Voracious

(D) Avaricious

26-Physics

afg fet Hihfeh et # ¥ ‘NOIDA’
H1 ‘39653’ ® W wafm foa
9w ¥, @ INDIA’ Y F wRa
T 2 I

(A) 36568

(B) 63568
(C) 63569

(D) 65368

‘Abstain’ Y& ®1 foeim % :

(A) Refuse |

" (B) Oppose
' ‘(C).- Run away -
(D) Permit

| 9. 2w wom = Sl @ <ol e

‘One who talks continuouély.’

_(A) Impecunious
~ (B) Loquacious
(C) Voracious

(D) Avaricious



10.. Find the correctly spelt word :

11.

(A)’ Verstile
(B) Versatile
(©) Yersetile |
m) Versatele

Which of the following relations does

not represent Galilean Trans-

formation ?

RGNS

- N
B v=v-V
© ¥ = x -Vt

V.2

o
- -
D) ¢ =a

26—Physics

10. 9§ A 9T W 9aRT

11.

(A).‘ Verstile

(B) Versatile

© Versetile

D) »Veréate_le

= 8 ﬂaﬁﬂm ey Heffera S
= uarsfa & m ¥ 2

RN
@A) = r - Ve

- - -
B v=v-vV
© ¥ ==
V2
s
- -
'(D)va’= a



. 12. A n-meson is moving with a Vélbcity
0.8 ¢, where c is the velocity of light. §

If mean life of n-mesbns in its oWﬂ '
 frame of reference is 2.4 x 1078 ‘s.ec,
then the mean lifé pf aboev 'n-mesén_ _

in Alabofatory frame will'b‘e' 2

(A 4 x 1078 sec

13.

(B) 1.44 x 1(_)-8 sec

(©) 4 x 1078 sec

(D) 144 x 106 sec

S o
In a conservative force F newton

field the potential energy of a

particle is Ula, k2 2) joulés’, then
which of the following conditidns, is

not always ‘statisfied ?

. .
(A) curl F =0

' -
B) div F =0

_)
(C) F =(-)grad U

@ § Fdr =0

26—Physics

12.

13.

T AW 0.8 ¢ I R ¥ el
¢ WHW W AT ¥ | AR o-AWH H

2.4 x 108 ¥5vs ¥, A 3w ety

am -

(A) 4 x 1078 sec

(B) 1.44 x 107® sec

(.C) 4 xv‘ 10‘6ksec

| (D) 144 x 10-6

fmﬁm&ﬁw F %% aaﬁqa;
| mﬁﬁﬂmWﬁU(x,y,z)GEl%

aﬁwﬁﬁaﬁ?{ﬁmﬁmmﬂﬁ
'ﬁhﬁ e

A) aﬁffﬁeo

®) T F = 0

© F = (fea= U

) 36 Fdr =0



14. The moment of inertia of a uniform

15.

solid disc of mass 400 gms and radius

-5 cm about an axis paséing through

its edge and perpendicular to its

plane is :
(A) 15 kg-m?

(B) 5 kg-m? -

- (C) 5 x 107 kg-m?

(D) 1.5 x 1073 kg-m?

The maximum and minimum orbital

velocities of a satellite are Umax and
Umin Tespectively then eccentricity of

the orbit of satellite is given as :

vmax

@ -

min

Umin

® 3
max

-V
+ v

Umax min

(&)

max min

Umax + Umin

(D)

max ~ Umin

26—Physics

14. T& THEY 39 TdHdl HT TTHH

15.

@

D)

400 T T B 5 ¥ ¥ @ TER
uftfy = wel wA g€ 9w e
%m‘aa%mam‘w
o |

(A) 15 fem-i2
(B) 5 fHm-?,

(C) 5 x 1074 form-H2

D) 15 x 10-3 frm-ti2

Ife foelt SuuR & Sifysan w&@ gAaw
min%’z‘?r
IWE W FA W Sehwal @

HeF A HAM: vy, T v

vm ax

Umin

(B) Umin

vmax

Umax ~ Umin

Umax t Umin

©

" Umax + Umin

“Umax = Umin



16. Two particles. of masses 2 kg and

- (22 + 47 + 61%) m/s

" 4 kg have instantaneous velocities

énd

(5f - 2}' + 3]3) m/s respective}y."

Then the velocity of first pé.rticle in |

a frame of reference attach with

their centre of mass at that instant
will be :

(A) (2f + 47 + 6]3)m/s

®) ’-(—22 + 61€)m/s

17.

(© (4 + 4f)ms

D). Zéro

A stone is dropped with zero initial

velocity from the top of a2 100 m high

building at equator. The horizontal |

displ’acement of the stone due to

earth’s rotation is :

(A) 0.430 cm

 (B) 4.30 cm .

© 0.215 cm

D) 215 cm

26—Physics

16. 2 fem w4 fem AT ® Q

17.

o1 & areafors &7 W

(Zf + 4] +.6£) /A, qen

(50 - 27 + 3(2) W, & | o

I T TR 3% 93 i @

ﬁm&méﬂ@m?:

(A) (22 + 47 + 61%)1?1}@.

®) (-2 + 6k)HA. o

(O (4 + 47)a

D) ¥ N
e Yan W fegd 100 et S felt -

| T A T e v A A

W ¥ lqwﬁﬁthémm
= e fom % e A
(A) 0.430 it
(B) 4.30 ¥
(©) 0.215 ¥t

D) 2.15 AR



18. ‘If electric potential at a point | 18. R fFdlt fog (x, ¥, 2) W forp favm

(x, ¥, 2) is given by : ﬁzﬂ i

V = {6x2y - 2y%z + 4xyz} Volt | | V= {6x2y - 2y2% + 4-x;yz}‘ EﬁF\:’
then electric field at point @ fag (<1, +1, -1) W faga &=
(-1, +1, -1) is : - . |

(A) -16i + 14j - 6k Volt/m &) -16 + 14}'.'- 6k T’ﬁ@/‘ﬂ

B ) i — 6k volt/m ‘ * ¥ b
®) 16 + 14] - 6k voltm (B) 16 + 14] — 65 Ae/dt

(C) .16{ - 14] + 6k volt/m . R
| J - (©) 167 - 14} + 6k e/

(D) -16i - 14 + 6k volt/m . A s
| | - D) -16i - 14j + 6k e/
19. Which of the following relations is . '
- | 19. o & @ @ vy w@ W ¥ 2
not correct ? _
- V14V % =
(A) V-(V X A) =0 (A) ( J

-

B) V x (V6) = 0 (B) V x (W) ‘-=,0._
© VxVxX:,V(V.X] ©) VxVxX:i'vV(v'.Xj
- V2A o | _v2A
TR R
N q)[v-z) ' - ¢(V.XJ

26-Physics - 10




20.

21..

Two square plates of surface charge

densities +0 and —c respectively

“lying in xy-plane are having electric

field E; along z-direction. An |

observer is moving with uniform

velocity v(v ~ ¢) w.r.t. plates along

+x direction, then the electric field |

observed by observer is :

_ v2 .

- (C) Eyq
()] Ze.ro
Which of the following reiations is
binc‘orr"gct ? |
@ €, =+ x)
- (B B = eO_E + X
_ :
© €= o
D) D = Opee

26—Phyéics
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© =
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23.

26—Physics

: C
Py

22. A solid dielectric sphere of radius R

meter is uniformly polarized along

z-direction-with polarization density I

3 The electric potential at
m

point (r, 0), r > R is\given by :

RS cosB
3¢, r

@A) Py

‘R,3 sin©

(B) Pyj= =2

3eyr

R3 cosO
2

©€) P
" Ty T

R3cos0
3eyrd

©) P,

A dielectric sphere is placed in a

uniform electric field of strength

4 x 10% volt/meter. If dielectric

constant of material of shpere is 8,
then the strength of electric field

inside the sphere is :
(A) 4 x 10* V/m

(B) 1.2 x 10° V/m
(C) 1.5 x 10° V/m
(D) 3.2 x 108 V/m

12

22.

23.

(©) 15 x 10° dwe/it

me'rmvavwégwm'zﬁm
¥ e w9 @ qfm ¥ owd oTEE

e wE Py wErtwAR ¥ fag

(r, ), r > R W fam fave =1 oW

oo

R3 cos9 -

(A) P
d3eo

R3sin®

(B) Py 2

3egpr

R3cos®
2

C) P
“4n €T

R3 cos6 i
SEOr . “‘
ﬁﬂaﬁ?ﬁ'ﬂm4x105iﬁﬁ/‘ﬁ%,ﬂ‘{'@1
w1 R e B e
8 B, M B I Forega &

(A) 4 x 10* Sree/H
(B) 1.2 x 10° See/wt

D) P,

D) 3.2 x 106 dree/h



- 24,

- The magnetic field at the centre of |

- (C) J2ra

o 2

25.

T

A current i is flowing through a

- square loop of sides of length ‘@’ m.

the loop is :

\/—2_ Mol

ta

@)

Mol

ta

L‘_The expression for Bbhr—Mégnetqn ;

‘constant is given by :

e

" \v(A') 2m ‘

,(B) drm

R eh

O m
1

(D) [—_‘P«o =

26-Physics
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26.

27.

For a damped mechanical oscillator

o be the natural frequency of the

A
oscillator, 2r = o~ where A be the

damping coefficient and m be the

mass of the oscillator, then its time
period is given by : |
2 | |

A o

| l
® = o |

r

- 2n " \

| (C) 2 2

w0+r | | \

2n ’
(D) wg _ 2 !
For a driven oscillator if frequeincy
of driving force (w) is much. gre?ter
than that of natural frequency (wg)
of the oscillator which of #he
following statements is correct ?
(A) Velocity oscillator and dri\+ing

force are in same phase

(B) Velocity of the oscill%to’f '
lags behind drjving force bPr a

5 1 \
(C) Velocity of the oscillator lebds

phase

the drlvmg force by a phasJ =

(D) Velocity of the oscillator legds
‘the driving force by a phask T

26—Phys1cs v - \
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26.

27.

T o T 2r =

T aHfca Fifes fes st wnfas
‘}L,‘_"ﬁxm
m.

TUIh QAT . QAT 1 F=TH &, D FHH
JTadehTed BT '

A —

(B)

27
(9] 2 2

Wwg +r

2n ' » "
D Jg - -
ot} e e & ferg s =l aret
ﬁaquﬁ(w)a‘rmﬁwmfaas
(wq) ¥ srafers &, frea & 9
FU T § ?

(A) E’I'r?ﬁ % 97 wW ’a"lﬂ‘vrd q
won | BN

(B) 2fer & A F Ha T T
FH Q g 3w ¥

(C) Qe & A+ wen e o
wel @ g s ot %

(D) A B I we R T



28,

29.

PR
® ECeoEz_

L© |E

,f64Physics

- Two

| (C) 1000 Hz, 1603.5 Hz

Enr plane électromagnetié' waves
~moving 1in free space the energy .

»density is given by :

@A)

_Videntical‘ LC electrical

4 osc;illatbrs are. inductively ‘coupled _

is 0.44. If the natural frequency of ﬂ

(A) 528 Hz, 1000 Hz

(B) 272727 Hz, 1000 Hz

() 1809.07 Hz, 1000 Hz

‘€, E? N B?
2 219

-
H|

- -
D E-H

28.

- such that the coefficient of coupling-; : '

q Y LC faga e o e
o v g o e g

Wﬂﬂﬁ&ﬂ%lﬁﬁmleo

ofii % R SR 1200 w6

- each LC circuit is 1200 Hz, thenthe | &, T g faen srfaEil %1 7
_frequenciés of normal modes are : @’ﬂ :

: (A) 528 T, 1000 zéa

®) 2797, 27 W, 1000 zé\a

(©) 1000 zévr 1603.5 zia

| “(D) 1809. onéa 1000 &

2.

gaamﬁnﬁvﬁamﬁqa"

15 -

(© |E x

& E? E?_ |
2 219

(A)

o
B) 3 CeoE?

-
H|



80.

- and group velocity in a médium, then

RNV Vg >

31.

. 26—Physics

If V, and V are the phase velocity

- condition for normal dispersion is

given by :

B) V,

[
<

I
<
I
o

© v,
D)V, <V,
The change in energy of a macro

system is 1.38 x 1073 eV at

temperature 127°C. Then the

increase in number of accessible

energy levels of system in percentage

is ;

(A 4%

®) 8%

| (C) 0.4%

D) 0.8%

16

30.

31.

afk freht ez & V) eV, I F
& wn A, @ e Rd @
o wd A -

() V, > V.
’(B)'- Vg =V

© V, =V, =0 “‘,
@ V, <V, :“-\
127°meﬁﬁ%ﬁm\‘ﬁmf

1;38x10_3eV'§3|'6';Ta T a

mﬁm%eﬂf‘wwm &

A) 4%
l R
(B) 8%

(©) 0.4%

(D) 0.8%



33,

3

”a))Kﬂnzm (an)]

- temperature TK is ngen by
W ;—K'r nz

. ® KTl -I2)

. )

© K 372

| for real gases iis given by .

" og
(A)

L ©

RT

(B) Cb[ﬁr b]

C,lRT ~ "] |

D) Zero

26;Physics |

| 32 In terms ofpartltlon funuﬁmn ‘Z’ the :

'ﬁGlbbs free energy of a system at :'

mﬂ ¥

‘Z’%qﬁﬁﬁmaaamfﬁ )

L

| (A) —KT In Z

®) KT - In 2)

9

. © KR T -

| -;}.(D)KﬂnZ+TaT(an)]  ]_ |
Joule-Thomson expansion coeﬂiment 33. Wﬁﬁ'{ '?Rﬁ "% f@{ Tﬁ-w R o

(A, -;R.—I:

® ol




34.

35.

The initial temperature of a para-
magnetic substance is 4 K. If Curie’s -
. constant are A 42 J- K/kg-T2 and |
Cp = 42 J/kg-K, the value of |
magnetic field requlred to reduce its
tempeérature upto 2 K by adlabatlc |
demagnetlzatlon ' ‘
(A) g Tesla .
e -
(B) 1 Tesla
1 o
© 75 Tesla
(D) 3 Tesla
The meah free path of a gas molecule
- of diameter ‘d’ at temperature TK
and pressure P N/m? is given by :
~ _PKT
® Tna

KT

1 © Faaw

o

26-Physics

V2 nd?P
.'KT L
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34.
? ARk wa faww # oaw
A =42 JKAgT? W Cp = 42 Jkg-

T SHTEEE WY W 4 K

K%, amﬁ-@mmmm

,2KWWW%WW'

Wmmmm

®) ’7} o

(C)-T%Hm |

‘ (D)f%aw

35. ‘4

WWMWMWTKHW

o QHP%/"WW‘RW%W@IW“

RN

B

2 nd?2 KT

PKT'

E (B)ﬁndz

| KT
(C). 2Znd’P

Znd’p



- 86.

K statlstlcs the partltlon functlon

©
. O

37.

. The ratio of i;itensities' of maxima -

(A

_According to Maxweu-Boltzniann

for a monoatomlc ideal gas is. glven

1
v 1
IR

.
(B){‘-"lg'(2an"1‘)2 o
\'4 '

5 (2n mKT)?

13 (2n mKT) -

The intensity ratio of two coherent
‘sources which are: producing |

‘interferl-ence_ﬁ'inge paﬂ;erns is9: 1. |

. . X.‘
. and minima is :

_{A)«4 1

@) 3:1

‘(CA) 81:1

S @Bl

’ 26—-Phy81cs .

36. ﬂmﬂamwﬁaﬁﬁm'

:-wwmﬂuﬁﬁqm

@

o
mmaﬁa\aﬁﬁm&ﬁwm
-9:1% xe&asamaﬁﬁa%#?ﬂam

.~:ma13qra%

. (B)3 1

19 .

- ®

©

(C) 81 : 1

ROV EE

Y enmKm2
h o

W 3
R mKD?
v oo
-5 (2n mKT?
V. = “ .
F(ZamKT)

Wmmmmﬁﬁ :

w41




38.

- 39.

'(C)

Dark and bright fringes are formed
in Newton’s ring experiment due to
reflected light. If A be the wave-

' length of the ]ig‘ht i be the refractive

mdex of medlum of the ﬁlm and R
be the radius of curvature of the

planoconvex lens then the radius of

_nth bright 'ring is given by :

=%

§

(D)\/_m

In Mlchglson s mterferbmeber . 100 '
fringes cross the field of view when |

~ the movable mirror is diéplac‘ed 1

through 0.02945 mm. The

“wavelength of monochromatic light |
‘_us'ed‘is:“ )

- ‘(A) 2945 A

(B) 4800 A
(C) 8835 A

- (D) 58% A'W -

26-Phy81cs
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38.

- 39.

@f—ﬁ-

, i 9 s s o @ & 1 AR e

%t windsd ) e B WA 1 ST

"pqamarﬁmaﬁaﬁmﬁWR*

%anﬁmmﬁﬁmam'

%

| (2n - l)RK

(A)

n\

© 5

e T § e T

ﬁoo%%ﬁsﬁﬁaﬁwﬂmmm
qﬁe&‘ﬁ @ 100 firdt Foeenfya St

_%lugaaqaﬁuﬁmaﬁwﬁﬁ

(A) 2945 A
(B) 4800 A

(C) 8835 A

(D) 5890 A
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o 40, ‘When']i'ght Wavestrav:élfmmam :
.medium to “denser »medinm then '

- which of the following statementsls | .‘ :

correct ?

(A) Its wavelength and. frequency |

both mcreases

ﬁ'equency increases- * "

frequency rémams constant

- frequency remains constant

The wavelength of hght is 6000 A_~
s0. that hm1t of resolution of a':ﬂ
- telescOpe becomes T. 32 X 10‘6

‘radlan The dxameterofthe objectlve

S

 lens of the teleg;ope is :
| '—(AJ 6 cm

| (B) 10cm ‘

(© 3 em

Dyisiem | H

o ,:'(B)saﬁaméafma‘tm%ﬁa
(B) Its anelength decreases butf o

0. mmmﬁmﬁww%
f_'wqrwwﬁmm%aﬁwﬁf‘
ﬂf.aaaamwua% 2 |
.'(Aoma#ﬁs&@mﬁﬁag

Gmﬁ%

!

mﬁrwm%

’ »(C) Its wavelength decreas‘es‘ but‘ v ,(C) m W 'é[ W % ﬁ"ﬁ .

mwrwz

(D) mmwm%mm |

- (D) Its wavelength mcreases but .

ﬂmwﬁ%

‘6000Amﬁ$m$m"

- \‘jmwﬁﬁmwmm

 fown o fwd faie %ﬂm:
a2 10-6%@13;:,@ SR
""(A) 6 i |

V'"'(B’) 101?@
©sw

D 7.32 LUl




42. A ciréularly‘_pqlaf‘ised light is

43.

26—Piiysics :

allowed to-pass through a quarter

wave plate, the emergent light will

be :

-(A) Plane polarized
(B) Elliptically. polarized

- '(C)‘ Unpolarized

(D) Remains circularly polarized

The approximate life _timg' of

. metastable state energy levels in a

Rﬁby LASER isv :

(A) 3 x 1078 sec

" (B) 3 x 10~3 sec

(C) 3 x 10710 ggc

D) 3 x 10*3 sec B

42. Tk TYE yfaa yew-w sgute-
| ¥ TR, fel e

H

@) e

(B) a’fﬁq?ﬁw yfea

() g

43.

| B) 38 x

(A) 3 x

o (Dj ?ﬂagﬁaﬁ W

wﬁémﬁﬁamwfwmwﬁm

Wm

1078 Q.

10°% ¥

X .

© 3'x 10103

D) 8 x 10*3 A



44. 20 gm sugar is dissolved in 100 c.c.

" of water. The solution is ﬁlled in the

glass tube of a polarimete'r' ~who‘seb

length is 20 cm. When plane

then its plane of polarisation rotates

by an 'angjle‘ 20°, then: specific

rotation of sugar is :

50 em® -
gm-decimeter

(A

8

o Bem®
’ (B) gm-decimeter .

60 em®
gm-decimeter

’

©)

10 cm? ,_
gm-decimeter

o)

- 26—-Physics -
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W

- (©

(D)

44, 20 T <R # 100 W ¥ wH F
| e %?;'739?“5 wl Wf‘ﬂ +
i e () # o & R

~ polarized light is passed through'it | -~ "
T 200 W o g, A A

B

50.cm®
 gm-decimeter

3

 5em®
@ - gm-decimeter

60 cm®
fng:l-decimetgr L

: 10 cm® '
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45. Which of the follqwing statements

is incorrect ?

" (A) In a zone plate, area of each |

zone is same

(B) In a zone plate, radius of each | |

zone is same
(C) A zone platé acts as a

. converging lens

(D) Focal length of a zone plate

increases with increase in

_ wavele,vng‘th of light waves

. Which of the following does not show | .

Semiconducting‘ properties ?

+ (A) Ge

®) Si |
© P

D) GaAs

o4

s tmissrmem @@y

(A) T e e e e A

(B) ' i e # o o A o

(©) TF 9 W ahwd dw it wE

) W W www g0 T

w%@fﬁqmzﬁﬂﬂﬁf%

‘.‘ﬁmﬁﬁaﬁwaﬁ—maﬁwwﬁh

ﬁm%’

W Ge

B) Si -

S ©oP-

., D) GaAs



47, If the given circuit is converted into

a Thevenin’s equivalent circuit with

a load of 10 Q across PQ, then values

| of equivalent e.m.f. and equivalent

~ impedance in converted Thevenin

equivalent circuit are :

12V+ ~ F00

— m9§

(A) 72V, 10 @
B) 48V, 22 Q
() 24V,12Q

D) '12V,20Q

-26—Physics

47. ﬁv}@wﬁﬁuﬁ PQ # R W = 10

sm vy @ fae 93FF 9 gog Ty

3 e frn T A g R 23

‘ %ngﬁ@ﬁgwﬁmﬁa@.@w

‘El.ﬁﬁlm ERR 1 -1 S

303 103m p
W 'IIIIIMV

12-.vi_: 0

@A) 72V, 10 dm
- (B) 4;8 V, 22 3m
- (C) 24V, 12 3™

@) 1.2V, 20 3w

25 .

10 50



48. The internal resistance of ideal

49.

| voltage source and ideal current

source should be respectively :

(A) infinite, infinite

- (B) zero, zero

(C) infinite, zero
(D) zero, infinite -

The value of donor concentration in

a n-type specimen of germanium if

- its resistivity is 0.020 Q-m and

M, = 6.25 m? N-s.

(A) 5 x 1019 atoms/m?
(B) 1.25 x 1019 atoms/m3
(C) 2.5 x 1‘019 atoms/mé

(D) 6.25 x 1019 atoms/m3

26-Physics
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48, ARY e WM TS NS "W B

49.

% o WA w9 AT

(A)‘ R, I

(B) YA, A

(C) 3, I

D) ¥, 3=

wifrm & nvER % TRRH -

Quehal 0.020 M- T, = 6.25 W2

w—ﬂ.%,ﬁfsﬂﬁmm’m@vﬁ:

(A) 5 x 1019 w3

(B) 1.25 x 101% wwmysd3

(©) 2.5 x 1019 w3

(D) 6.25 x 101° w3



-

51.

50.

- (©)

26—-Ph_ysics

- (A)

'The expression for ripple factor with

a shunt capacitor filter rectifier in
full wave bperation is :

1 .
43fR;,

1

4
V3fR.C

2
JV3fR.C

D)

The units of transistor h=parameters

h;, and hfe gre i:gspedtivgly :
(A) Ohm, volt

(B) No unit, ampere

(C) Ohm, no unit’

(D) Volt, ampere

.27

50.

51.

T T frewn faed -y

Henfl fiheet o ¥, < fere Siftie o
ﬁm R

1
443fR.C

A)
| 1

4

© Br.c

9
V3fR;C

©)-

it  h-araeh by, by,

wAN: BN ;o

&) ¥, dw

(B)ﬂ?rés#réaﬁ,w_

| (©) 3, 3% T T

(D) o, R



52. In the given transistor circuit the | 52 = @3 7 aforet uftuy § A’ W fava

tential at point ‘A’ is : ‘
potentia Pl i 1 AT

+12V

$12V

I, .
Rc=lm

‘ —e A

B =100

@A) 12V A) 12V
(B) 10 V . (]3) 10 V
© 2V | | © 2V
‘mov. | oov

26—Physics _ 28 .



53. Voltage gain of an amplifier without | 53'. T yads H Tfﬁa“ o deem

- feedback is —400. By introducing/ { afe ;400 ¥ | RO Tﬁ'&ﬂ [

ﬁéloowmﬁe’a% |

negétiire feedback it is reduced to

_100. The feedback ratio of the § T AU B AN Sryu

resultant amplifier is o
A 40 -
(A) 40 : ‘
(B) 0.4
(B) 0.4
(C) 01
(©) 0.1
' (D). 0.01
(D) .0.01 o '

7]
26-Physics ' 29
§



54. Boolean expression for the given | 54, 9 ik M Wiew wfgy & & g

logic circuit is : , : =TF B :

S P e
| Lo

(4) A . B ® .8
®A+B ®) A+ B
© A+B © K75
) Ao®B

D) A B

26—Physics o - 30



55. Values of metrical coeﬁ'lcients or

- 56.

 polynomials of mth and nth order, {

26—Physics

(A) Ry

L ©) hy

(A)

© =] O

system are :

1,h2=1,bh3=r: -

B) hy =1, hg=r,hg=1"

If p,,(x) and p,() are- Legendre

then the value of the inﬁegral

Tmmhmw

Cis i

2
—3
2n+1 ™
2n+1‘8

2 mn

B)

(© 2"@ Jrns,,,

N—

n(n+1 "

1, h2 =r, h3 Lo, sule '

.31

(B) hy

() By

~(B)

55, i frdw 1 e e e §

scale factors for sbherical go-ordihate B

ot B g
(A)»hl -1, h2" _ 1"h3v‘="rvl

1, hy = r, hg = 1; :

1, hy = 1, hg = r sin®

@ hy =1, hy =1, hy = 1> sing

56. A p,,(x) T p,(x) m damnd wife

e

1. /A B

2
(A) 1 Omn

2n +
2nv+y16

2 m

© 2"nn$,,

n(n+1) -

D)



57. If pu(u =1, 2, 3, 4) represents four

58.

momentum, then the value of

. .
2

Z Py is :

u=1

(©) C2p?

(D) Zero

The value of 8}, in four-dimensional

space is “:
(A) Zero

® 1

< 3 -

) 4

26—Physics
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57.

58.

R p, = 1, 2, 3, 4) wghiw @

L4
aﬁwﬁh‘m%ﬁr}lpﬁwm
. o~



59.

60..

26—Physics

 (A) ¢C13,

@) 4B,

Generating function for Hermite

. Polynomials is given by :

-
@ e ,,Zo o Hor
' -t2xt i ——1— n
(B) e = ~ In H, (x)t
©) eth2t Zz H, (x)"

D) None‘ of the above

Which of the following pair is not -

a mirror nuclei ?

13
7N

(B) 19K39, 20Ca39

(C) .6012’ 7N1-3

6011

- 33

©

59. T FEI 1 IWE Her fen s

£ .
. —t’2;1-2x*t ' i —1- : n-
(A) e = ~ In H, (x)t"
—-2xt i l n
(B) e = ~ - H (x)t
(© et o 20 H, ()"

©) wegw A A P
60. 1 & § s I <Uw A @

%?,'

(A) 6013’ 7N13 .

(B) 19K39"2oca39 o '

6012’ 7N13

(D) 5B11, 6Cll



61.

62.

The binding energy per nucleon of

1H2 and 2He4 are 1.1 MeV and

7.05 MeV respectively then amount

.of energy released if two 1H2

nuclei fuse together to form 2He4

nucleus :

(A) 8.15 MeV

(B) 32.6 MeV
() 695 MeV -

(D) 23.8 MeV

Which of the following is not used

as a moderatér ?
(A) Gré.phite
(B)) Cd |

(C) Heavy water

(D) Beryllium

26—-Physics

61.

9ftt feeiet FE: 1.1 MeV TS 7.05

MoV ¥, A3 |2 v B W g

2He4$ﬁﬁf&r%mwﬁamf

62.

34

&

" (A) 8.15 MeV

(B) 32.6 MeV

(©C) 6.95 MeV

(D) 23.8 MeV

Fror B QP sremiem 9 e v &

e ¥

(A) FETEE

B) Cd

(©)

(D) Shfem



63. Which of the following reactions is | g3 fm § ¥ F fufrw dwa

~not allowed ? -
T2
| + ‘ k+ 20 .
AT an o R (At +n okt + 320

‘(B)‘A0+n_-)2_.+p : | (B)‘ A0'+n—>.2"'+p~
©F s+ ) , C kF -+ 0
D E+po> g0 +n Dk +po R +n

64.  The number of atoms in cubic unit | 64. BCC WIe& & T = 31 Hf¥w

cells of BCC lzl:ltticé. are: C R m 2t %
VN I BN
v‘(B)3 | | . | ®s
"(C)‘2. | o2
o1 | " ™1
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65. A plane makes an intercept of 1 on

the c-axis where a, b, ¢ being the '
primitive translation vectors of the |
lattice, then Miller indices of the -

~p1ane are :
@ 1,20
® 1,21
© @21,1
D) (2, 1, 0)

. If Qp is Debye temperature and T
is absolute temperature of a solid
material, then according to Debye
model, Molar specific heat Cy of solid

at low temperature is directly ‘7

: prdportional to :

@) (1" 3
6p

1 65.
a-axis, 2 on b-axis and parallel to

T T o-AH W i,jb-am W 2
o-TH B TR wreR @ 8, vl
b, ¢ SfeH T GRew &, @ @ B
A) @, 2, 0) |

B) 1,2, 1)

) 21,1

®) @, 1, 0)

. Gk Feelt 3w e @ oy Qp feard

o @ T W A ¥, @ feard
Hew @ SR P il W va 9 )
A ¥ e |
,(Tga

A —
(A) op




67.

68,

~ 26-Physics s

following normalized wave function

3
- B 2(0)2

_ 5
D) 2(b) 2

For the components of angular

O iA[L, - Ly]

A particle is described by the

w(x) = ox e V%

x>0
=0 : n<0
The value of the normalizéi%ion

constant o is :

-1
(A) 2(b)2

| 1
(®) 2(b) 2

[IA;;, iy] is :
@ inL,

©) ihL,

R

67. T FU F= w1 wer g weiia fe

yix) = ax e

: 1
(A) 2(p)2

' '3
(B) 2(b)2

S 1
© ()2

©) 25y

68. Wi W ERE B R B

momentum operators the value of . "

[I:x, fay] Wqﬁ @ﬂT T
(A) ih Lx

B) ihL,

(C) ihL,

® inL, - L,]



69. In normal Zeeman effect the energy | 69. W= "M 3 § [ = 2 & W

level corresponding to I = 2 splits | 9 ®R fem Su-wl § faasa @
into how ‘many sub-levels-? " T2 |
- @A 2 A) 2
B) 3 |
® ®) 3
©) 5
(C) 5
D) 7
o D 7

70. An X-ray photon of wavelength 1 A .
- 70. 1 A X7 &1 s X-fewor wie|
collides with an electron and is '

| TF goiagid 8§ THTH 90° W W
scattered through 90°, the ‘

‘uﬁﬁham%ﬁhuﬁﬁhqﬁmﬁ.

‘wavelength of scattered photo_n‘-will
T Bl
be : ‘
(A) 0.024 A (A) 0.024 &
(B) 1.24 A : B) 1.24 A 4
© 01024 A 5 (©) 0.1024 A
D) 1.024 & (D) 1.024 A
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Space for Rough Work
wot wd B oy

26—-Physics v . 39



Space for Rough Work
e HE & fe W
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